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I. Vocabulary/Grammar/Usage
Directions: In the following section you will read 20 questions (40%). You are to choose the one best answer, (A), (B),(C), or (D) to each question. Then, on your answer sheet, find the number of the question and fill in the space that corresponds to the letter of the answer you have chosen.

1. The Westinghouse Co. has a trade ____  of  NT$500 million. 
(A) surplus

(B)surface

(C) suggestion

(D) stock

2. Instead of governing in peace and prosperity, President Bush must deal with war and ____.

(A) defeat 

(B)declaim 

(C) deficits 

(D) dangerous

3. On his way to work, Tony saw a car collided with a truck; there were several ____.

(A) fatal    

(B) fatalities 

(C) fatigue 

(D) figure

4. Some people believe that the death penalty is an ____ form of punishment.

(A) extreme 

(B) example

(C) mercy 

(D) extremely

5. I ____ yet where to apply to graduate school.

(A) decided 

(B) didn’t decide
(C) will decide 
(D) haven’t decided

6. Alice invariably experiences intense _____ right before taking an important exam.

(A) anxiety 

(B) attitude

(C) agricultural 
(D) accountable

7. I am not accustomed to ____ up so early in the morning. 

(A) got   

(B) gotten 

(C) getting 

(D) get

8. Parents have to _____ their children.

(A) disciple 
 
(B) demonstrate
(C) discontinue
(D) discipline

9. Private schools must be careful not to become overly ____ tuition and fees for their funds.

(A) apply for 

(B) dependent on
(C) account for
(D) reply on 

10. The two computer firms entered into serious ____ in order to merge their companies into one.

(A) novices 

(B) negotiations
(C) nymphs

(D) nuclear

11. Harry was accepted by one of the most ___ law firms in Boston.

(A) prostrate  
(B) participate 
(C) proud  

(D) prestigious

12. We _____ the world’s supply of oil and natural gas at a steady rate.

(A) are depleting
(B) are constructing  (C) are moving toward to
(D) are collecting 

13. As the tides of globalization become ever more ____ and bring intense competitive pressure to the business leaders.

(A) invisible 

(B) inharmonious   (C) inevitable 
(D) iniquitous

14. Animals entering Britain from abroad are put in ___ for three months.

(A) quadrille 

(B) quadrillion  
(C) quarantine

(D) quandary

15. In all there are an estimated 10,000 acupuncturists in the country, 6,500 of ____ are certified

 one way or another.

(A) whom  

(B) who 

  
(C) whose 

(D) which

16. If I ___ not ill, I would go hiking.


(A) were 
 
(B) was   

(C) am 


(D) will be

17. His foot caught in a rock and he pitched ____.


(A) forwards 

(B) backwards  
(C) towards

(D) awkward

18. Prices paid by Third World consumers are rising again, with ___ up in Brazil and Mexico.


(A) recession 

(B) inflation  

(C) setback

(D) construction

19. Connie’s hard work ___ when she got ____ Yale.


(A) paid off … by 
(B) pay off … in  
(C) paid off … into 
(D) pay off … by

20. She suggested ___ the children to the zoo.


(A) to take 

(B) took 

 
(C) to taken


(D) taking

II. PARAPHRASING:Q21-Q25(10%)

Directions: read the followings and select the most correct answer that is closest in meaning to the each given statement from the reading selection.

21. The application of beauty, skill, and style beyond the practical is as much a human need as the
need for food, sleep, and protection from the weather.


(A) Filling out applications is a practical skill for human beings.


(B) Human beings need to eat, sleep, and shelter themselves from the weather.


(C) Human beings’ food and shelter does not need to be beautiful or practical.


(D) Human beings need decoration and art as much as food, rest, and shelter.

22. The great variety of artistic forms and styles makes the study of art rewarding.


(A) Great artists receive great rewards.
(B) Studying the arts is worthwhile because of the many different types of artistic expression.

(C) There are many different ways to reward artists for their years of work.

(D) Artists who study many different styles of expression are superior.

23. Many religious put their beliefs in material form so that people can see or tough them as they
 worship.

(A) Material objects such as paintings or statues are often used by religious groups to 
communicate spiritual ideas.

(B) Different religious use different materials in their ceremonies of worship.

(C) People who worship material goods do not truly have religious beliefs.

(D) Religious beliefs take many different forms such as seeing, touching, or worshipping
 certain spirits.

24. Because art is so deeply rooted in cultural traditions, it is difficult to talk about standards of
 beauty in any universal manner.

(A) Some art is more difficult to understand than other art.

(B) There are so many traditions of art and culture in the universe, it is difficult to learn them
 all.

(C) Ideas of what is beautiful and artistic are almost the same in every culture.

(D) Ideas of style and beauty depend on each culture’s traditions and values.

25. Modern Western cultures emphasize an artist’s originality and innovation.

(A) In Europe and the United States, an artist must use modern Western themes.

(B) In Europe and the United States, artists are judged by how new and different they are.

(C) In Europe and the United States, the role of the artist receives little emphasis.


(D) Modern western nations think that art and culture are important.

III. READING COMPREHENSION: Q26-Q35 (20%)

Directions: The following section includes 3 passages. Each one is followed by several questions about it. You are to choose the one best answer, (A), (B),(C), or (D) to each question. Then, on your answer sheet, find the number of the question and fill in the space that corresponds to the letter of the answer you have chosen.

Passage 1

In west-central New York State there is a group of eleven long, narrow, glacial lakes known as the Finger Lakes.  From east to west these lakes are Otisco, Skaneateles, Owasco, Cayuga, Seneca, Keuka, Canandaigua, Honeoye, Canadice, Hemlock, and Conesus. These lakes have been aptly named because of their resemblance to the
(5)   fingers of a hand.  Two of the largest of the Finger Lakes, Seneca and Cayuga, exemplify the selection of the name: Seneca is thirty-seven miles long and four miles across at its widest point, and Cayuga is forty miles long and two miles across.


Although scientists are not completely certain as to how these lakes were formed, most believe that successive sheets of glacial ice carved out the long, narrow valleys.  The glaciers most probably moved along the paths of preexisting stream valleys and further deepened these valleys to depths well below sea level.  With the melting of the glaciers at the end of the Ice Age, the lakes were filled.

26. The topic of this passage is


(A) west-central New York State


(B) Seneca and Cayuga


(C) the scientific findings about the Finger Lakes


(D) the description and origin of the Finger Lakes

27. Why does the author mention Seneca and Cayuga in particular?

(A) They are the only two Finger Lakes.


(B) They are the two largest lakes in the United States.


(C) They are good examples of long and narrow lakes.


(D) They are long and wide.

28. What do most scientists believe caused the formation of the Finger Lakes?


(A) Melted glaciers carved out the valleys.


(B) Glaciers cut into the land and then melted to fill the valleys.


(C) The sea level decreased.


(D) Heavy rainfalls flooded the area.

Passage 2

Distillation, the process of separating the elements of a solution, is widely used in industry today.  The two most common methods of distillation are fractional 

distillation, used in the preparation of alcoholic beverages, and flash distillation, used for the conversion of ocean water to fresh water. 
In fractional distillation a mixture is 
      (5)  separated into its various component parts by boiling.  This method makes use of the fact that different elements boil at varying temperatures.  For example, alcohol has a considerably lower boiling temperature than water: the boiling temperature of water is 212 degrees Fahrenheit, and the boiling temperature of alcohol is 172 degrees Fahrenheit.  Thus, when a mixture of alcohol and water is heated, the alcohol 

(10)  vaporizes more quickly than the water.  The distillate is collected and the process is repeated until the desired purity has been achieved. Flash distillation does not require high temperatures but instead is based on pressure.  In this process, a liquid that is to be separated is forced from a compartment kept under high pressure into a compartment kept at a lower pressure.  When a liquid moves into the low-pressure chamber, it suddenly vaporizes, and the vapor is then condensed into distillate.

29. According to the passage, what happens when water and alcohol are heated together?

(A) Both the water and the alcohol evaporate at the same rate.

(B) The alcohol cannot evaporate because of the water.

(C) The alcohol evaporates at a temperature of 212 degrees Fahrenheit.

(D) The alcohol evaporates from the mixture first.

30. The word “purity“ in line 11 means 

(A) thoroughness

(B) righteousness

(C) cleanness

(D) goodness

31. The main purpose of this passage is to

(A) give an example of fractional distillation

(B) describe a scientific process

(C) discuss the boiling temperatures of various liquids

(D) explain how ocean water can be turned into fresh water

Passage 3




In the beginning of the nineteenth century, the American educational system 

was desperately in need of reform.  Private schools existed, but only for the very rich, and there were very few public schools because of the strong sentiment that children who would grow up to be laborers should not “waste” their time on education but
(5)  should instead prepare themselves for their life’s work.  It was in the face of this pubic sentiment that educational reformers set about their task.  Horace Mann, probably the most famous of the reformers, felt that there was no excuse in a republic for any citizen to be uneducated.  As Superintendent of Education in the state of Massachusetts from 1837 to 1848, he initiated various changes, which were soon 
(10) matched in other school districts around the country.  He extended the school year from five to six months and improved the quality of teachers by instituting teacher education and raising teacher salaries. Although these changes did not bring about a sudden improvement in the educational system, they at least increased pubic awareness as to the need for a further strengthening of the system.

32. It is implied in the passage that to go to a private school, a student needed

     (A) a high level of intelligence

     (B) a strong educational background

     (C) good grades

     (D) a lot of money

33. What are “reformers”in line 6?

(A) People who try to change things for the better

(B) People who work for the government

(C) People who really enjoy teaching


(D) People who believe that education is wasted

34. The word “initiated” in line 9 is closest in meaning to


(A) regretted


(B) started


(C) overturned


(D) broadened

35. According to the passage, which of the following is a change that Horace Mann instituted?
(A) The matching of other districts’ policies

(B) Increased pay for students

(C) Better teacher training

(D) The five-month school year

IV. Short Essay 30%

Directions: Answer the following three questions each with 80 words (about 4 to 6 sentences) in English. The grading standards will base upon the organizational, structural, and grammatical skills.  

36. Who do you think is most responsible for helping a student learn the material:

the teacher or the student?

37. What is your idea of an ideal career?
38. What is the best way for two people to solve an argument ? 
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